A
CIRCOR
(g

ALLWEILER®

Screw pump
Series CFHM

Utilization

The CFHM series from ALLWEILER is suitable for use
in all segments of industry where lubricating liquids are
pumped that do not contain abrasive components and
will not chemically attack the pump materials. Pumped
liquids include petroleum-based hydraulic oils, synthetic
hydraulic liquids, lubricating oils, and native
(environmentally friendly, biologically degradable) oils.

Main fields of application

Main fields of application are in hydraulic systems, as
lubrication pumps in mechanical engineering, liquid
transfer pumps, and other similar applications.

Design

The CFHM series is comprised of three-screw, self-
priming screw pumps with hardened and polished
screws. The drive of the drive spindle is hydraulic, the
axial thrust is balanced completely hydrostatic.

The drive screw bearing is a groove ball bearing
lubricated by the pumped liquid.

Function

The three screws have specially shaped thread flanks
that form sealed chambers. As the screws turn, the
contents of the chambers are moved continuously in the
axial direction from the suction side to the pressure side
of the pump. This design produces no turbulence
despite rotation of the screws. Constant chamber
volumes eliminate squeezing forces, thereby delivering
virtually pulsation-free operation.

Performance data

Capacity Q 30 up to 880 I/min
Discharge pressure Pq up to 120 bar ©
(including intermittent

operation)

Inlet pressure Ps up to 3 bar
Liquid temperature t up to 100 °C
Liquid viscosity v 3 upto 760 mm’/s

@ Permissible pressure load depends on viscosity and speed (see
individual curves). Intermittent operation refers to: Alternating
loads when the pump is frequently switched on and off (such as
variable speed oil drives on turbines).

Installation

The following options are available for specific

requirements:

- bracket, including mounting foot, for horizontal
or vertical dry installation.
- installation bracket for vertical tank installation.

Shaft sealing
Shaft sealing is provided by an uncooled, maintenance-
free, unbalanced mechanical seal.

Connections

Suction and discharge connections with SAE flange
connection.

Nominal diameter of discharge flange: DNy 1 to 3 inches
(depending on pump size).

Overload protection
A pipeline-mounted valve shall be provided.

GB/2019.10 — Ident-No. 488141



Series CFHM

CIRCOR | ALLWEILER®

Drive
The pump drive is a standard three-phase squirrel-cage
motor according to the IEC standard.

In most cases, surface-cooled three-phase squirrel-
cage motors, type B3 or V1 are provided; IP 55
protection class according to the IEC standard,
insulation class B, motor coil for 400 VA, 50 or 60 Hz.

Explosion protection
When used in an explosive environment, please consult
the manufacturer.

Material code

Refer to proposal or order documentation for the
maximum permissible temperature of pumped liquid for
the respective temperature classes.

Note: If operating the pump in Category 2,
impermissible warming of the pump surfaces,
potentially caused by a disturbance, must be prevented
with suitable measures.

Part name

Material W205

Rotor housing

Aluminum alloy

Pump cover

EN-GJL-250 (GG-25)

Suction casing

EN-GJL-250 (GG-25)

Screw set

Nitride steel

GB/2019.10 — Ident-No. 488141



CIRCOR  ALLWEILER®

Series CFHM

Performance graph
Capacity/discharge pressure per size/screw pitch at viscosity of v = 40 mm?/s.

1000
800

600
500

400

300

200

150

100

capacity Q [I/min]

80

60
50

40

30

20

15

10

n = 1450 1/min
discharge pressure dp [PSI]
200 600 1.000 1.400 1.800
0 | 400 | 800 | 1.200 | 1.600 |
I I I
\\
\\\ 440
\‘ B
— T— \\
\\\ 280_
ey
— T— 280.
S~ T — <8043
T — T— f——
202104
T —
B 2P
L T — {‘
i Y 4030~
N - T~ 'Q0~<i6
\\\\ ~ 6’0\\\
T~ N4
N 80%\t
\\\ \\
N
\ \
\ 76
o,
9
0
<7
0 20 40 60 80 100 120
10 30 50 70 90 110 130

discharge pressure dp [bar]

capacity Q [I/min]

n = 2900 1/min
discharge pressure dp [PSI]

200 600 1.000 1.400 1.800
0 | 400 | 800 | 1.200 | 1.600 |
1000 ' ' '
800 4046
600 | T e 340140
500 |— 28051
[ — 280-46
400 = I — 280.43
— 4210-4
300 =T
\\N p. ¢21 140 |
200 — —
740-39
—
150 | 8045
\\ 0_4.2
e ——
80. ?s
[
80 M—
60 \\ \\
50 T ——
\\
40
30
20
15
10
0 20 40 60 80 100 120
10 30 50 70 90 110 130

discharge pressure dp [bar]

Refer to the individual curves of the hydraulic selection program for precise pump capacities.
Observe the hydrodynamic pressure limit (permissible discharge pressure) when dimensioning the pump!

GB/2019.10 — Ident-No. 488141



. CIRCOR | ALLWEILER®
Series CFHM

Sectional drawing
Series CFHM in the W205 material version, internal antifriction bearing, with mechanical seal.

Suction casing Drive screw Rotor housing

Y

Stop screw

/4

NN h
AAANA A —H

AR L A

Pump cover drive end

Idler screw Grove ball bearing Mechanical seal

Wmﬁ// JV \ g
| \NBN\¥ 10

\%&\/ o] =

-
1

U

v o &

o

il

Antifriction bearing type for size 280, 440 Antifriction bearing type for size 40, 80

GB/2019.10 — Ident-No. 488141



CIRCOR  ALLWEILER®

Series CFHM

Pump dimensions
Series CFHM, internal antifriction bearing, with mechanical seal.

Branch position:

Direction of rotation:

The suction casing (and with it the suction branch) as well as the rotor housing (and with it the
discharge branch) can each be displaced by 90°. When the pump is installed horizontally,
stop screw A must always point upward.

Clockwise, viewed from drive end.

@ Ds
@ Dd
1 =g o
N +
o L i
- ©
(o] Ny
- - - - - - - - a
Q
L L
Leak oil connection / Flange connection
G3/8 (BG 40-210) DIN ISO 3019/2
K3 G1/2 (BG 280, 440) /3 y4
el e2 _
A
O O <> _Ga_ M~ %
& A3 P 2 < >
S O = O
& & =" 3 -
© Q
t
s3xt3 s4x t4 o
Fit size djs for sizes 40 and 80
q2 q1 i1
Fit size dn7 for sizes 140, 210, 280 and
440
k2
Size Pump dimensions [mm] Flange cover [mm]
d2 g1 g2 i1 k2 k3 q1 g2 al b1 b2 c s1 y3 y4
40 45 430 104,5 | 207,5
80 116 23 75 49 467 124 108.5 | 2405 188 | 125 | 150 | 160 | 13,5 15
140 55 567 130 282
210 146 29 85 2o 612 138 136 321 232 | 160 | 190 | 200 | 17,5 o 9
280 95 666 165 140 357
240 186 65 100 777 192 169 424 296 | 200 | 230 | 250 22
Size Shaft end [mm] SAE-Suction flange SAE-Discharge flange
d I u t Zoll | S3xt3 el e2 Ds S4 x t4 el e4 Dd
40 1 M10 x 22 52,4 26,2 25
19 (35| 6 |215| 2 |[M12x22| 77,8 | 429 50
80 1% M12 x 22 58,7 30,2 32
140 1% M12 x 20 69,9 35,7 40
2% |M12x22| 88,9 | 50,8 64
210 2 M12 x 22 77,8 42,9 48
32| 65|10 | 35
280 106,4| 61,9 72 2% M12 x 25 88,9 50,8
M16 x 25 64
440 4 130,2| 77,8 98 3 M16 x 27 | 106,4 61,9

GB/2019.10 — Ident-No. 488141



Series CFHM

CIRCOR | ALLWEILER®

Efficient

Various sizes and screw
pitch angles provide fine
gradation of pump
capacity across the entire
design performance
range.

Robust

Hardened and polished
drive and idler screws
provide a long service life.

Reliability Wear-resistant
Hydraulically driven idler

screws. The thread flanks
are virtually load-free and

not subject to wear. screws.

Versatile
Optimized material for the rotor
housing provides versatility in
terms of pressure resistance
and special operating
conditions.

Finely machined starting
surfaces provide axial
force compensation of the

Durable

Shaft sealed with
maintenance-free
mechanical seal suitable
for the operating
conditions.

Low maintenance

Drive screw utilizes
groove ball bearing that is
lubricated by the pumped
liquid.

NN

] | . g I I\
NPAR IR REEL A=
¢\l o ¢
R
A A\

Flexible
Suction casing (and with

it the suction branch) may
be displaced by 90° to the

discharge flange (pump).

Extremely low-oscillation and
pressure-proof casing for
demanding applications,
such as intermittent or high-
pressure operation.

Flexible

Rotor housing (and with
it the suction branch)
may be displaced by 90°.

Suction and discharge
branches with SAE flange
connections. Quadratic
four-hole flange according
to DIN/ISO 3019/2.

Well-designed

Pumps of the CFHM
series are self priming.
Low noise, virtually
pulsation-free pumping
operation, without
turbulence, and without
crushing.

GB/2019.10 — Ident-No. 488141



CIRCOR  ALLWEILER® .
- Series CFHM

GB/2019.10 — Ident-No. 488141 7



Series CFHM

-~

CIRCOR  ALLWEILER®
(g

Subject to technical changes.

A\

CIRCOR ALLWEILER®
(g

ALLWEILER GmbH

Postfach 1140 - 78301 Radolfzell
Allweilerstr. 1 - 78315 Radolfzell
Germany

Tel. +49 (0)7732 86-0

Fax. +49 (0)7732 86-436

E-Mail: service@allweiler.de
Internet: http://www.allweiler.com

GB/2019.10 — Ident-No. 488141




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /OK
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts false
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /Cambria
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 600
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 3.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 600
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<


    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /ESP <>
    /ETI <>
    /FRA <>



    /HUN <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 6.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200036002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 6.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>


    /SKY <>

    /SUO <>
    /SVE <>
    /TUR <>

    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 6.0 and later.)
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [594.992 842.003]
>> setpagedevice


